th 75 B AW T2 1S — 35 F 80— B (B R B B - i) .:Elﬂié%
e
B AR hRIEE | ERD AR B
(F 2 /IN—FKR) (F 2 IR—FKR)
1 B [if] 7,840 21 & 7,500
2 =F 7,840 i 22 ELIL 7,510
3 TR 7,840 23 2H 7,390
s 4 1= 7,600 24 F8H 7,390
5 LI 7,970 25 HE 8,370
6 ER 7,970 plig 3 26 R 8,390
7 TE 7,580 27 = 8,490
8 o< & 7,580 28 S 8,620
9 HIE 7,580 29 fall 8,620
10 Ha 7,480 T 30 TE8 8,600
S 11 B H 7,480 31 ii]m] 8,600
12 s 7,480 32 e 8,740
13 HHES 7,380 _— 33 Fh 8,680
14 it 7,380 34 i 8,640
15 EXl 7,580 35 = 8,740
16 s 7,620 26 R 8,400
17 K 7,620 &R 8,600
LRtk 18 = 8,020 37 R 8,400
19 £iR 8,020 L 38 AEAR 8,400
20 Bl 8,020 39 X5 8,400
40 =y 8,500
4 BRS 8,400




th 75 B AW T2 1 — 35 F 30— B (B4R B B - K HR) .( B1xREY
e
B AR KT | EEE AR KTE
(F 2 /IN—FKR) (F 2 IR—FKR)
1 B [if] 12,180 21 a3 11,600
2 =F 12,180 i 22 ELIL 10,970
3 TR 12,180 23 2H 10,850
s 4 1= 11,780 24 EBH 10,850
5 LI 12,400 25 HE 11,860
6 ERN 12,400 iR 26 RAR 11,680
7 TE 11,210 27 = 12,780
8 o< & 11,210 28 SE 14,220
9 HIE 11,210 29 fall 14,210
10 Ha 11,120 T 30 T 14,210
S 11 B H 11,120 31 ii= 14,210
12 s 11,120 32 e 14,960
13 HHES 11,020 _— 33 Fh 14,800
14 it 11,020 34 i 14,590
15 EXl 11,210 35 = 15,190
16 s 11,960 2% RIG 14,300
17 K 11,960 &R 14,700
LS 18 = 12,080 37 R 12,100
19 £iR 12,080 L 38 AEAR 12,500
20 Bl 12,080 39 X5 14,400
40 = I 12,500
4 BRS 14,400




#th 7 R E W AT/ —BRTEH & —E (BB BE- i) .‘(’@ﬂﬁ%
s A
B AR hRIEE | ERD AR B
(F 2 /IN—FKR) (F 2 IR—FKR)
1 B [if] 8,490 21 & 8,250
2 =F 8,490 i 22 ELIL 7,510
3 TR 8,490 23 2H 7,410
R 4 fus 7,600 24 HH3H# 7410
5 LI 8,660 25 HE 9,050
6 ERA 8,660 plig 3 26 REB 9,080
7 TE 7,640 27 = 9,180
8 o< & 7,640 28 S 9,340
9 HIE 7,640 29 fall 9,360
10 Ha 7,540 T 30 TE8 9,140
S 11 B H 7,540 31 ii= 9,140
12 s 7,540 32 e 9,450
13 HHES 7,440 _— 33 Fh 9,390
14 it 7,440 34 i 9,350
15 EXl 7,640 35 = 9,450
16 s 7,630 2% RIG 8,400
17 K 7,630 &R 8,600
LRtk 18 = 8,020 37 R 8,400
19 £iR 8,020 L 38 AEAR 8,400
20 Bl 8,020 39 X5 8,400
40 =y 8,500
4 BRS 8,400




